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Eğim Hesaplama



Eğim Hesaplama

En düşük yükseklik

1400 m

En büyük yükseklik

1750 m



Eğim Hesaplama

L

L = 1000 m

Haritada ölçülen 

değer 4 cm’dir.

1/25000 ölçekli 

haritada 1 cm 250 

m olduğu için 1000 

m hesaplanmıştır.



Eğim Hesaplama

L

Eğim (P) =
ƊH

L
X 100

Eğim (P) =
1750-1400

1000
X 100

Eğim = % 35











Sürütme Mesafesi

L1

L2
L3

Transport Sınırının 

Belirlenmesi

- Dereler

- Sırtlar

- Topografik Yapı

SIRT
L4



Beyin Fırtınası

L1

L2
L3

L4

Maksimum 

Sürütme 

Mesafelerinin 
ortalaması ??

(L1+L2+L3+L4)

4

?????



Sürütme Mesafesi

Maksimum 

Sürütme 

Mesafesi

       (L1+L2)

2
L1

L2







Teşekkürler
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